

$$\int_0^1 (a+bx) dx = \left[ax + \frac{bx^2}{2} \right]_0^1 = \frac{a}{1} + \frac{b}{2} = 1 \quad a+rb=r \quad -A$$

$$\mu = E(x) = \int_0^1 x(a+bx) dx = \int_0^1 (ax + bx^2) dx = \left[\frac{ax^2}{2} + \frac{bx^3}{3} \right]_0^1 = \frac{a}{2} + \frac{b}{3} = \frac{r}{2} \quad ra+rb=r$$

$$\begin{cases} a+rb=r \\ ra+rb=r \end{cases} \rightarrow \begin{cases} -ra-rb=-r \\ ra+rb=r \end{cases} \quad \begin{matrix} a+r=r \\ \boxed{a=-r} \end{matrix} \quad \boxed{b=r}$$

$$E(x) = \int_0^{\infty} x \left(\frac{1}{r} x e^{-x/r} \right) dx = \frac{1}{r} \int_0^{\infty} x^2 e^{-x/r} dx \quad (C1) - 4$$

$$\int_{-1}^1 c(1-x^2) dx = \int_{-1}^1 c - \int_{-1}^1 x^2 = r \int_{-1}^1 c - r \int_{-1}^1 x^2 = \quad (-$$

$$rC [x]_0^1 - r \left[\frac{x^3}{3} \right]_0^1 \rightarrow rC - \frac{r}{3} \rightarrow rC = 1 + \frac{r}{3} \rightarrow rC = \frac{4}{3} \quad \boxed{C = \frac{10}{3}}$$

$$E(x) = \int_{-1}^1 x \frac{10}{3} (1-x^2) dx = \frac{10}{3} \int_{-1}^1 x - x^3 dx$$

$$\int_a^b x \frac{1}{x^2} dx = \int_a^b \frac{1}{x} dx = \ln(x) \Big|_a^b \quad (C)$$

$$E(x) = \sum x f_X(x) = (-2) \left(\frac{1}{9} \right) + (4) \left(\frac{1}{9} \right) + (9) \left(\frac{1}{9} \right) = -\frac{2}{9} + \frac{4}{9} + \frac{9}{9} = \frac{11}{9} \quad -V$$

$$E(x^2) = \sum x^2 f_X(x) = (-2)^2 \left(\frac{1}{9} \right) + (4)^2 \left(\frac{1}{9} \right) + (9)^2 \left(\frac{1}{9} \right) = \frac{4}{9} + \frac{16}{9} + \frac{81}{9} = \frac{101}{9}$$

$$E[(X_{n+1})^2] = E[Fx^2 - rX_{n+1}] = F E(x^2) - r E(x) + 1 =$$

$$F \left(\frac{101}{9} \right) - r \left(\frac{11}{9} \right) + 1 = 14 \quad \checkmark$$

$$E[(x_{n+1})^2] = 14 \quad E(x^2 - Fx_{n+1}) = 14 \quad E(x^2) - F E(x) + r = 14 - 11$$

$$E(x^2) - F E(x) = 3$$

$$E[(x_{n+1})^2] = 10 \quad E(x^2 - rX_{n+1}) = 10 \quad E(x^2) - r E(x) + 1 = 10$$

$$E(x^2) - r E(x) = 9 \quad E(x) = \frac{11}{9} \quad E(x^2) = 14$$

$$\mu = E(x) = \frac{11}{9} \quad \sigma^2 = \text{Var}(x) = E(x^2) - (E(x))^2 = 14 - \left(\frac{11}{9} \right)^2 = 11 \frac{1}{9}$$

$$E(x) = \sum x f_X(x) = (0) \left(\frac{4}{11} \right) + (1) \left(\frac{4}{11} \right) + (2) \left(\frac{1}{11} \right) + (4) \left(\frac{1}{11} \right) = \frac{11}{11} = 1 \quad -9$$

$$E(y) = \int_0^1 y \cdot r y \, dy = \int_0^1 r y^2 \, dy = r \left. \frac{y^3}{3} \right|_0^1 = \frac{r}{3} \quad - rF$$

$$E(n) = \int_r^{\infty} n \frac{\Lambda}{n^r} \, dn = \int_r^{\infty} \frac{\Lambda}{n^{r-1}} \, dn = \Lambda \int_r^{\infty} n^{-r} \, dn = -\Lambda \left[\frac{1}{n} \right]_r^{\infty} \\ = -\Lambda(0 - \frac{1}{r}) = \frac{\Lambda}{r}$$

$$r = E(ny) \Rightarrow r = E(n)E(y) \Rightarrow r = \frac{\Lambda}{r} \times F \quad r = \frac{\Lambda}{F}$$

$$E(n) = 1 \quad E(y) = r \quad \text{Var}(n) = r \Rightarrow E(n^2) - (E(n))^2 = r \Rightarrow \quad - r\Lambda$$

$$E(n^2) = r$$

$$\text{Var}(y) = F \quad E(y^2) - E(y)^2 = F \Rightarrow E(y^2) = \Lambda$$

$$\text{Cov}(n, y) = F \quad E(ny) - E(n)E(y) = F \quad E(ny) = r$$

$$E(rn - y + 1) = rE(n) - E(y) + 1 = r - r + 1 = 1$$

$$\rho(n, y) = \frac{\text{Cov}(n, y)}{\sqrt{\text{Var}(n) \text{Var}(y)}} \quad \text{Cov}(n, y) = F$$

$$E(mn + y) = E(mn) + E(y) = mE(n) + E(y) = m(1) + r = m + r$$

$$E(m - ny) = E(m) - E(ny) = m - r = m - r$$

$$\text{Cov}(mn, y) = E(mny) - E(mn)E(y) = -rm^2 - rm + r - rm^2 - \Delta m - r = Fm^2 -$$

$$m \neq 0 \quad m \neq 2$$

$$\text{Var}(n) = r$$

$$\text{Cov}(ny) = E(ny) - E(y)E(n) = \int_0^1 n \cdot y(1-n-y) \, dy = \quad - rF$$

$$y \int_0^1 n - n^2 - y n \, dn = y \left(\frac{n^2}{2} - \frac{n^3}{3} - y \frac{n^2}{2} \right) \Big|_0^1 =$$

$$y \left(\frac{1}{2} - \frac{1}{3} - \frac{y}{2} \right) = y \left(\frac{1-r}{6} - \frac{y}{2} \right)$$

$$E(n) = 1 - rF$$

$$E(y) = \int_0^1 y(1-n-y) \, dy = y \int_0^1 1 - ny - y^2 \, dy = y \left[\frac{y^2}{2} - n \frac{y^2}{2} - \frac{y^3}{3} \right]_0^1 \\ = r y^2 - r n y^2 - r y^3$$

$$\int_r^{\infty} k \, dy \, dn = \int_r^{\infty} k \left[\frac{y^2}{2} \right]_n^1 \, dn = k \int_r^{\infty} (1 - n^2) \, dn = \quad - r\Lambda$$

